Converting Between g and kg (A)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
< Q ' f = — o o

o & o 5 S 13 E E S =
5 : z 2 8 188 E z :
: : ———t—t—t— : : > X
G M k h da: !d ¢ m K n
9 8 7 6 5 4 3 2 1:0i-1 2 -3 4 -5 -6 -7 8 -9

Convert 823.7kgto g

Convert 90,940 g to kg

Convert 97,400 g to kg

Convert 0.00053kgto g

Convert 24,030,000 g to kg

Convert 0.0028kg to g

Convert 3,100,000 g to kg
Convert 7800 g to kg
Convert 737.5kgto g

Convert 0.29kgto g
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Converting Between g and kg (A) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

T giga
centi

+ milli

1 nano

> X

» = T hecto
e
& B
& = T micro
b B

w = 1 kilo
~
)
O

o Q

Convert 823.7kgto g

823.7kg x 10 X 10 X 10 = 823,700 g
Convert 90,940 g to kg

90,940 g + 10 + 10 + 10 = 90.94 kg
Convert 97,400 g to kg

97,400 g + 10 + 10 + 10 = 97.4kg
Convert 0.00053kgto g
0.00053kg x 10 X 10 X 10 = 0.53 g
Convert 24,030,000 g to kg
24,030,000g +~ 10 + 10 + 10 = 24,030 kg
Convert 0.0028kgto g

0.0028kg X 10 X 10 X 10 = 2.8 ¢
Convert 3,100,000 g to kg
3,100,000g ~ 10 + 10 = 10 = 3100 kg
Convert 7800 g to kg

7800g +~ 10 + 10 + 10 = 7.8kg
Convert 737.5kgto g

737.5kg x 10 X 10 X 10 = 737,500 g
Convert 0.29kgto g
0.29kgx10x 10X 10=290¢g
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Converting Between g and kg (B)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
1 —_ @]
53 & o § 8! ig E Z 3 £
B = 2 o o' 1o 8 E £ =
: : ———t—t—t— : : > X
G M k h da t'd ¢ m M n
9 8 7 6 5 4 3 2 :OE 2 3 4 5 -6 -7 -8 -9

Convert 8.53kgto g
Convert 0.7358kgto g
Convert 2,850,000 g to kg
Convert 45,200,000 g to kg
Convert 0.0163kgto g
Convert 9.37kgto g
Convert 0.05908 kg to g
Convert 10,900 g to kg
Convert 4300 g to kg

Convert 9,270,000 g to kg
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Converting Between g and kg (B) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!3_a_s_e

o] o : — o— o o
5 1 2 8 8 18 £ E g g
& £ 2 23 13 8 E z 2
: : - : : —p X
G M k h da: ;d ¢ m K n
9 8 7 6 5 4 3 2 11011 2 -3 -4 5 6 7 8 9
Convert 8.53kgto g
8.53kgx 10 x 10X 10 = 8530 ¢
Convert 0.7358kgto g
0.7358 kg X 10 X 10 X 10 = 735.8 g
Convert 2,850,000 g to kg

2,850,000 g = 10 = 10 + 10 = 2850 kg
Convert 45,200,000 g to kg
45,200,000g - 10 = 10 =+ 10 = 45,200 kg
Convert 0.0163kgto g

0.0163kg x 10X 10X 10 = 16.3 g
Convert 9.37kgto g

9.37kg x 10 X 10 X 10 = 9370 g

Convert 0.05908 kg to g

0.05908 kg X 10 X 10 X 10 = 59.08 g
Convert 10,900 g to kg

10,900 g <+ 10 = 10 = 10 = 10.9kg
Convert 4300 g to kg

4300g + 10 + 10 + 10 = 4.3 kg
Convert 9,270,000 g to kg
9,270,000 g =+ 10 = 10 + 10 = 9270 kg
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Converting Between g and kg (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 D ¢ § g ig § =
B g g 2 8 +35 8 E g g
: : ———t—t—t— : : > X
G M k h da: !d ¢ m M n
9 8 7 6 5 4 3 2 1:0i-1 2 -3 4 -5 -6 -7 8 -9
Convert 0.09999kg to g
Convert 52,960 g to kg
Convert 7960 g to kg
Convert 6300 g to kg
Convert 0.73kgto g
Convert 2,030,000 g to kg
Convert 57.84kgto g
Convert 46,400 g to kg
Convert 0.00096 kg to g
Convert 0.00672kg to g
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Converting Between g and kg (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
v o e o
: : - : : —» X
G M k h da 'd ¢ m [ n
9 8 7 6 5 4 3 2 11011 2 -3 -4 5 6 7 8 9
Convert 0.09999kg to g
0.09999kg x 10 X 10 X 10 = 99.99 g
Convert 52,960 g to kg
52,960g ~ 10 + 10 = 10 = 52.96 kg
Convert 7960 g to kg
7960 g +~ 10 + 10 + 10 = 7.96 kg
Convert 6300 g to kg
6300g ~ 10 + 10 + 10 = 6.3kg
Convert 0.73kgto g
0.73kg x 10X 10X 10 = 730 g
Convert 2,030,000 g to kg
2,030,000g =10 = 10 + 10 = 2030 kg
Convert 57.84kgto g
57.84kgx 10X 10 X 10 = 57,840 g
Convert 46,400 g to kg
46,400g ~ 10 ~ 10 + 10 = 46.4kg
Convert 0.00096 kg to g
0.00096kg x 10 X 10 X 10 = 0.96 g
Convert 0.00672kg to g

0.00672kg X 10 X 10 X 10 = 6.72 g
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Converting Between g and kg (D)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
< Q ' f = — o o

< o0 o o §* 35 g = 5 =
& £ T 2 8 18 8 z 3
: : ——————— : : > X
G M k h dai !d ¢ m W n
9 8 7 6 5 4 3 2 1:0i-1 2 -3 4 -5 -6 -7 8 -9

Convert 88,420 g to kg

Convert 26,890 g to kg

Convert 984,800 g to kg

Convert4.02kgto g

Convert 60,190,000 g to kg
Convert 3.58kgto g
Convert4.7kgto g
Convert 0.0785kgto g
Convert 683.6kgto g

Convert 2,514,000 g to kg
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Converting Between g and kg (D) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!3_a_s_e
o] o : — o— o o

5 1 2 8 8 18 £ E g g
& g T 2 % 18 8 E E g
: : - : : —p X
G M k h da: ;d ¢ m K n
9 8 7 6 5 4 3 2 11011 2 -3 -4 5 6 7 8 9

Convert 88,420 g to kg

88,420 g + 10 + 10 + 10 = 88.42kg

Convert 26,890 g to kg

26,890 g + 10 + 10 + 10 = 26.89 kg

Convert 984,800 g to kg

984,800 g + 10 + 10 <+ 10 = 984.8kg

Convert 4.02kgto g

4.02kg X 10X 10 X 10 = 4020 ¢g
Convert 60,190,000 g to kg
60,190,000 g =+ 10 =~ 10 + 10 = 60,190 kg
Convert 3.58kgto g

3.58kg X 10 X 10 X 10 = 3580 g
Convert4.7kgto g

4.7kgx 10 % 10 X 10 = 4700 g
Convert 0.0785kgto g

0.0785kg x 10X 10 X 10 = 78.5¢
Convert 683.6kgto g

683.6kg X 10 X 10 X 10 = 683,600 g
Convert 2,514,000 g to kg
2,514,000 g +~ 10 + 10 + 10 = 2514 kg
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Converting Between g and kg (E)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< o 1 1 — — e
5 % ° % 8 i3 E E 3 z
B S Z =2 wi: +o 8 E S S
: : —— : : > X
G M k h da! *d ¢ m U n
9 8 7 6 5 4 3 2 1 0 : 2 3 4 5 -6 -7 -8 -9
Convert 0.21kgto g

Convert 6,870,000 g to kg
Convert 0.00061 kg to g
Convert 1,852,000 g to kg
Convert 1,520,000 g to kg
Convert 360,000 g to kg
Convert 6,700,000 g to kg
Convert4.25kgto g
Convert 0.61kgto g

Convert 0.28kgto g
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Converting Between g and kg (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!3_a_s_e
o] o : : — o— o o

< o0 o o 8 g5 g E S =
& g T 2 % 18 8 E E g
: : - : : —p X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:0:-1 2 3 4 -5 -6 -7 -8 -9

Convert 0.21kgto g

0.21kgx 10X 10X 10 = 210g

Convert 6,870,000 g to kg

6,870,000g + 10 =+ 10 = 10 = 6870 kg

Convert 0.00061 kg to g

0.00061 kg x 10 X 10 X 10 = 0.61¢g
Convert 1,852,000 g to kg
1,852,000g ~ 10 + 10 = 10 = 1852 kg
Convert 1,520,000 g to kg
1,520,000g ~ 10 +- 10 = 10 = 1520kg
Convert 360,000 g to kg

360,000 g = 10 + 10 + 10 = 360 kg
Convert 6,700,000 g to kg
6,700,000g + 10 =+ 10 = 10 = 6700 kg
Convert4.25kgto g

4.25kg x 10X 10 X 10 = 4250 g
Convert 0.61kgto g

0.61kg x 10X 10X 10 = 610g
Convert 0.28kgto g

0.28 kg x10x 10X 10 =280¢g
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Converting Between g and kg (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
1 —_ @]
53 & o § 8! ig E Z 3 £
B = 2 o o' 1o 8 E £ =
: : ———t—t—t— : : > X
G M k h da t'd ¢ m M n
9 8 7 6 5 4 3 2 :OE 2 3 4 5 -6 -7 -8 -9

Convert 9,200,000 g to kg
Convert 0.00055kg to g
Convert 0.00899kg to g
Convert 0.00012kg to g
Convert 366,200,000 g to kg
Convert 0.0227kgto g
Convert4.515kgto g
Convert 840,000 g to kg
Convert 5,389,000 g to kg

Convert 24,400,000 g to kg
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Converting Between g and kg (F) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!3_a_s_e
. ! - o
5) % c 5 g ‘g E £ > s
"Bh S 2 & w' 15 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 3 4 -5 -6 -7 -8 9

Convert 9,200,000 g to kg
9,200,000 g =+ 10 = 10 + 10 = 9200 kg
Convert 0.00055kg to g

0.00055kg x 10 x 10X 10 =0.55¢g
Convert 0.00899kg to g

0.00899kg X 10 X 10 X 10 = 8.99 g
Convert 0.00012kg to g

0.00012kg x 10 X 10 X 10 = 0.12¢g
Convert 366,200,000 g to kg
366,200,000g - 10 + 10 =+ 10 = 366,200 kg
Convert 0.0227kgto g

0.0227kgx 10X 10X 10 =22.7¢g
Convert4.515kgto g

4.515kgx 10 X 10 X 10 = 4515¢
Convert 840,000 g to kg

840,000 g +~ 10 + 10 +~ 10 = 840kg
Convert 5,389,000 g to kg
5,389,000 g +~ 10 + 10 + 10 = 5389 kg
Convert 24,400,000 g to kg
24,400,000 g + 10 + 10 + 10 = 24,400 kg
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Converting Between g and kg (G)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
] 1 — — o
5, % o § gt ig § E 3 s
‘B S Z 2 3 S S 8 E g o
: : —— : : > X
G M k h da! *d ¢ m U n
9 8 7 6 5 4 3 2 1 0 : 2 3 4 5 -6 -7 -8 -9
Convert 89,440 g to kg

Convert 509,800,000 g to kg
Convert 0.2878kgto g
Convert 5.7kgto g

Convert 0.9916kgto g
Convert 4,115,000 g to kg
Convert 0.00095kg to g
Convert 9580 g to kg
Convert 2460 g to kg

Convert 38.23kgto g
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Converting Between g and kg (G) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 81 13 £ E S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —p X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
Convert 89,440 g to kg

89,440g + 10 + 10 = 10 = 89.44 kg
Convert 509,800,000 g to kg
509,800,000 g +~ 10 =+ 10 = 10 = 509,800 kg
Convert 0.2878kgto g

0.2878kg X 10 X 10 X 10 = 287.8 g
Convert 5.7kgto g

5.7kg x 10 X 10 X 10 = 5700 g
Convert 0.9916kgto g

0.9916kg X 10X 10 X 10 = 991.6 g
Convert 4,115,000 g to kg
4,115,000g =10 +- 10 + 10 = 4115 kg
Convert 0.00095kg to g
0.00095kg x 10X 10X 10 =0.95¢g
Convert 9580 g to kg

9580 g + 10 + 10 + 10 = 9.58kg
Convert 2460 g to kg

2460g - 10+ 10+ 10 = 2.46 kg
Convert 38.23kgto g

38.23kg X 10 X 10 X 10 = 38,230 g

Math-Drills.com




Converting Between g and kg (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< Q ' f = — o o
& & o 5 81 15 § E 5 2
& £ T 2 8 18 8 z 3
: : —— : : > X
G M k h da: !d ¢ m K n
9 8 7 6 5 4 3 2 1:0i-1 2 -3 4 -5 -6 -7 8 -9
Convert 6,430,000 g to kg
Convert 0.025kgto g
Convert 0.02404kg to g
Convert 0.00096 kg to g
Convert 0.03582kgto g

Convert 428,700 g to kg
Convert 0.42kgto g
Convert 57,000 g to kg
Convert 64,100 g to kg

Convert 37,960 g to kg
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Converting Between g and kg (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
S 2 TR 2 S
: : - : : —» X
G M k h da 'd ¢ m [ n
9 8 7 6 5 4 3 2 11011 2 -3 -4 5 6 7 8 9
Convert 6,430,000 g to kg
6,430,000g + 10 = 10 = 10 = 6430 kg
Convert 0.025kgto g
0.025kg x 10 X 10 X 10 = 25¢
Convert 0.02404kg to g
0.02404 kg X 10 X 10 X 10 = 24.04 g
Convert 0.00096 kg to g
0.00096kg x 10 X 10 X 10 = 0.96 g
Convert 0.03582kgto g

0.03582kg x 10 X 10 X 10 = 35.82¢g
Convert 428,700 g to kg
428,700 g + 10 + 10 + 10 = 428.7kg

Convert 0.42kgto g
0.42kgx10x 10X 10 =420¢g
Convert 57,000 g to kg

57,000g ~10 =10+ 10 = 57kg
Convert 64,100 g to kg

64,100g +~ 10 + 10 + 10 = 64.1kg
Convert 37,960 g to kg

37,960g - 10 = 10 = 10 = 37.96 kg
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Converting Between g and kg (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
: : — : , > X
G M k h dai :d ¢ m M n
987654325-?-52—345—6789
Convert 0.0028kg to g
Convert 682.3kgto g
Convert4.75kgto g
Convert 909.4kgto g
Convert 790,000 g to kg
Convert 2760 g to kg
Convert 35,000 g to kg
Convert 377.8kgto g
Convert 812,300 g to kg

Convert 810,000 g to kg
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Converting Between g and kg (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5, b 2 g §: i3 E = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0.-1 2 3 4 -5 -6 -7 -8 -9
Convert 0.0028kgto g

0.0028kg X 10 X 10 X 10 = 2.8 ¢
Convert 682.3kgto g
682.3kg X 10 X 10 X 10 = 682,300 g

Convert4.75kgto g

4.75kg X 10X 10 X 10 =4750¢g
Convert 909.4kgto g

909.4kg X 10 X 10 X 10 = 909,400 g
Convert 790,000 g to kg
790,000g +- 10 =~ 10 + 10 = 790 kg
Convert 2760 g to kg

2760g + 10 + 10 + 10 = 2.76 kg
Convert 35,000 g to kg
35,000g ~10 =+ 10+ 10 =35kg
Convert 377.8kgto g

377.8kg x 10 X 10 X 10 = 377,800 g
Convert 812,300 g to kg
812,300g + 10 + 10 + 10 = 812.3kg
Convert 810,000 g to kg
810,000g +~ 10 +~ 10 + 10 = 810 kg

Math-Drills.com




Converting Between g and kg (J)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!5'_a_s_e
1 —_ @]
53 & o § 8! ig E Z 3 £
B = 2 o o' 1o 8 E £ =
: : ———t—t—t— : : > X
G M k h da t'd ¢ m M n
9 8 7 6 5 4 3 2 :OE 2 3 4 5 -6 -7 -8 -9

Convert 1,600,000 g to kg
Convert 0.00066 kg to g
Convert6.1kgtog
Convert 1.725kgto g
Convert 0.00945kg to g
Convert 65,700 g to kg
Convert 350,000 g to kg
Convert 0.18kgto g
Convert 620 g to kg

Convert 390,000 g to kg
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Converting Between g and kg (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

!3_a_s_e
. ! - o
5) % c 5 g ‘g E £ > s
"Bh S 2 & w' 15 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 3 4 -5 -6 -7 -8 9

Convert 1,600,000 g to kg
1,600,000g +~ 10 + 10 =+ 10 = 1600 kg
Convert 0.00066 kg to g
0.00066 kg X 10 X 10 X 10 = 0.66 g
Convert6.1kgtog

6.1kg x 10X 10X 10 = 6100 ¢
Convert 1.725kgto g

1.725kg X 10 X 10 X 10 = 1725 ¢
Convert 0.00945kg to g
0.00945kg X 10 X 10 X 10 = 9.45g
Convert 65,700 g to kg

65,700g +~ 10 + 10 + 10 = 65.7kg
Convert 350,000 g to kg
350,000g = 10 + 10 + 10 = 350 kg
Convert 0.18kgto g

0.18kg x 10X 10X 10 =180 g
Convert 620 g to kg

620g + 10 + 10 + 10 = 0.62kg
Convert 390,000 g to kg
390,000 g = 10 + 10 + 10 = 390 kg
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